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(A) SMTP
(B) FTP
(C) SNMP
(D) POP3

4.1GB %92  (5%)

(A) 1024 Bytes
(B) 1024 KB
(C) 1024 MB
(D) 1024 KBits
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b.iw 3} P-Code 4425 (P-Code Compiler) ? (3 %)
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C, C#, C++, Delphi, Java, JavaScript, PHP, Perl, LISP, FORTRAN, COBOL
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1. Please explain the following terms in detail. (40%)
(1) Profit center
(2) Management grid
(3) Current ratio
(4) Fundamental attribution error
(5) Planning gaps
(6) Structural inertia
(7) Peter principle
(8) Pygmalion effect

2. What is Hertzberg’s Two-Factor Theory? (10%)

3. What is Hawthorne Effect? What is its impact on modern management practice? (10%)

Please compare the scientific and behavioral management perspective. Please also give one
representative scholar of each perspective and their theories (explain in as much detail as you
can). (10%)

5. What is the difference between trait theories and behavioral theories of leadership? (10%)
Please explain in detail the two approaches to control in an organization’s management: market
control and clan control. (10%)

7. What are the four ways of shaping behavior? Please take parent-children relationship as an
example and explain how these four ways of shaping behavior come into practice. (10%)
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